H & 0l & AHS B Ml A

ZOHR!I= Xl
el sXsd
ool SXsH (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
=X 348,425,441 293,815,203 54,610,238
= 261,607,531
[ 365,532
= 84,109,257
= 2,353,121
Rl SXsd 348,318,121 293,757,163 54,560,958
= 261,607,531
[ 355,532
= 84,001,937
= 2,353,121
ojel sSXsH 67,666,126 68,175,838 AB09,712
= 55,224,252
[ 12,441,874
gofelis 50 A= 50,664,953 51,084,166 419,213
= 44,892,996
= 5,771,957
308 AXIHMSOIA 50,664,953 51,084,166 A419,213
= 44,892,996
== 5,771,957
01 XN EES 50,664,953 51,084,166 A419,213
o= 50,664,953
= 44,892,99%
= 5,771,957
HoH==0lx) X2 8,793,461 8,418,831 374,630
= 6,764,201
== 2,029,260
308 AHAIEMSOIE 8,793,461 8,418,831 374,630
= 6,764,201
= 2,029,260
01 X HHNBAEXES 8,793,461 8,418,831 374,630
OFM=E(I=x) 8,793,461
= 6,764,201
= 2,029,260
ZoH==2(XHa? S) X= 4,284,453 4,459,600 AT75,147
= 3,295,733
== 988,720
308 AHXIEMSOIH 4,284,453 4,459,600 AT75,147
= 3,295,733
< 988,720
01 HAHHBSEEXS 4,284,453 4,459,600 AT75,147
OZM==E (9 S) 4,284,453
= 3,295,733
= 988,720

|
—
|




2A:

X XH -
o=

ZOHR!I= Xl

0

el sXsd

Rl ZoHe! SXSA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Zofel Moty X 1,425,907 1,425,907

308 XXM SOIA 1,425,907 1,425,907
01 XN B2 LS 1,425,907 1,425,907
QTN HEAFXA (= S XY) 1,425,907
Fofeltrgs N 447,000 713,154 N266, 154
201 er=23y| 9,000 14,000 /5,000
01 AtR2t2|HI 9,000 14,000 25,000
ool Ws & 25 22 QY
S 9,000
307 212+01& 274,000 336,100 262,100
11 AMEISXAEEES 274,000 336,100 262,100
OFoperele At 40,000
OHHel stsZEA 38,000
OHMFEE JIEdA & U2AXH 130,000
Osg ZoHel It 50,000
OX+Z0Hel AlaLE0l 16,000
308 XXM SO0IH 144,000 156,500 212,500
01 XN B2 LS 144,000 156,500 A12,500
OAIZHOHAEH S SAA K& 102,000
OAlZ H0Hel & AIESAAL S KA 42,000
403 AXIEHHSA=01d 20,000 112,000 /92,000
01 MHXIHHA 22X 20,000 112,000 A82,000
OAIZZ I JIS2E2AIE 20,000
SO W= AL 10,000 10,000 0
307 lztol & 10,000 10,000
11 AMEISXAEEES 10,000 10,000
OZOHHY HHoA W= 10,000
HEZ0e BsX2 227,720 218,600 9.120
= 98,497
< 129,223
307 gl2to| & 227,720 218,600 9,120
= 98,497
= 129,223
10 AlISXAZEE 22X 177,720 168,600 9,120
O AZ0He! WA (22HI) 168,600
= 75,860
= 92,740
O E YA WFAIE SAH MW &HI 5,760
O EHMAWFAIE SAHL A ZAH| 3,360
1 AMISXAIEEXS 50,000 50,000 0
O A Z0HS! WA (ArHI) 50,000
= 22,637




2A:

X XH -
o=

o= Xt
el sXsd

0

Rl ZoHe! SXSA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| & 27,363
UL =XZ0F HEE A 2 8,500 8,500 0
201 et 3| 8,500 8,500
01 At22t2l] 8,500 8,500
OFMU=XZ20F HHEA 29 8,500
ZoHe! Sl AEHE 249 365,000 624,398 A259,398
307 glztol & 365,000 324,398 40,602
10 Al SXAEEHE2EHI2x 365,000 324,398 40,602
OB LHLHEZE 365,000
NS Zojel Aessoi2 23 457,547 335,000 122,547
= 132,155
S 325,392
307 @120l & 457,547 335,000 122,547
= 132,155
= 325,392
05 2IR”IRIE = 457,547 335,000 122,547
OXe Hofel AASSI12 2 457,547
= 132,155
= 325,392
ZOHRI D= 285,450 256,326 29,124
307 elzto| & 285,450 256,326 29,124
10 Al SXAAEEHE 22X 241,450 217,326 24,124
OSE =AM 2 241,450
11 AMEISXAEEXS 44,000 39,000 5,000
OSEEMAIERALY (AZHI) 44,000
ZOHRIDFEXIR (Al2) 564,900 360,900 204,000
308 AFAIEHMSOIH 519,900 360,900 159,000
01 AXENB 2 LS 519,900 360,900 159,000
OAl - 2 ZO0DIEXIAEE 28 X3 471,000
O 2U3== 48,900
403 MR HHMSAHE01H 45,000 45,000
01 MHXIHH A =222 45,000 45,000
OAIZHOHRIIIEXIZHEH XX 45,000
ZOHAIXIZHE SAEAE XA 42,840 23,400 19,440
307 21201 & 42,840 23,400 19,440
10 Al SXAEEE 22X 42,840 23,400 19,440
OFOHAXIZHEH EAA MLMEHI(E) 27,720
OZHUIXIRAE SAK HUSAHI(E) 15,120
ZOHRIXIRAE BSALL MLHLHI(AIZ) 23,112 7,05 16,056
308 AHXIEMSOIH 23,112 7,05 16,056
01 XN BSELS 23,112 7,0% 16,056
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SRR

33 Yo sXsd
el Z0He AsAdE (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBMIEATHENS delXn S 2218
2dX& 30,000
403 MR HMSAHE01H 27,000 375,000 A\348,000
01 MHXIHH A 22 27,000 375,000 348,000
OIS AFE JIs22(XHH) 27,000
ZOHAXMATHEAIE JIS2Z 1,004,375 1,846,515 842,140
= 669,586
= 334,789
403 THXISMSAH=01H 1,004,375 1,846,515 A842,140
= 669,586
s 334,789
01 AXISHHA =2 £ 1,004,375 1,846,515 A842,140
OHUMAXNEHEAE JIS2ES 1,004,375
= 669,586
[ 334,789
ZOHQIMALSEONAIE XIR(S) 195,294 189,952 5,342
= 78,118
= 117,176
307 212+01& 195,294 189,952 5,342
= 78,118
= 117,176
10 AlRISTIAIEEE 22X 195,294 189,952 5,342
OZ O MAS EIHAIE 2 195,294
= 78,118
== 117,176
ZHOHQIMAZTIHAIE XIR(Z) 13,360 14,265 905
307 gl2to| & 13,360 14,265 905
10 AlISXAAEEHE 22X 3,360 3,360 0
OZ A HASEOIAIE SAHAL ASAHI 3,360
11 AMRISXAEEES 10,000 10,905 A905
OSSR MAE HIHFEI NS 22 10,000
ol el XA 593,130 566,580 26,550
307 elztol & 453,000 444,000 9,000
10 Al SXAEEHE2EHI2x 373,000 364,000 9,000
OZOHANHMS X2 HEH 2SHI(%) 373,000
11 AMEISXAIEEXS 80,000 80,000 0
OZ NI T ME X ALY AFZHI(Z) 80,000
308 AtAIEHMSOIE 140,130 122,580 17,550
01 HAHHBSEXS 140,130 122,580 17,550
OssZ0e IHatgd X3 140,130
SSTHA NS HEHEH X2 493,5% 476,370 17,225
= 336,934




SN &

M mojol =XSA
el Zoie! AHE X (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 156,661
308 AXISHMSOIA 493,5% 476,370 17,225
= 336,934
& 156,661
01 AXESHHZAEEZ 493,59% 476,370 17,225
OZOHI X MEXAHE XIJ(AlIZ) 483,555
= 336,934
& 151,621
OZSHMCINSMEHE SALL ZHZA
Bl XI&(Al2) 5,040
SSEe 258X & =IOt XH 5,761,644 4,931,913 829,731
308 AXIHMSOI& 5,761,644 4,931,913 829,731
01 XIXISHHBAE LS 5,728,644 4,899,913 828,731
O=3HMe g2 & FIHKIZ 5,728,644
13 SI|2ASHICHEHE A X L EFAMH] 33,000 32,000 1,000
OsEHMC! 82X XA (FIH) MR
H2dg 33,000
Zofel esiE=0 XA 121,887,5%4 90,372,961 31,514,633
= 108,001,665
= 13,885,929
308 AHXIHMSOIH 121,887,594 90,372,961 31,514,633
= 108,001,665
= 13,885,929
01 XIXIEHHBAE LS 121,887,5%4 90,372,961 31,514,633
OFoHe esXJAS0H XA 121,887,5%4
= 108,001,665
& 13,885,929
252X Jh20 1,547,631 1,600,850 A53,219
= 1,371,319
& 176,312
308 AXISHMSOIN 1,547,631 1,600,850 A53,219
= 1,371,319
= 176,312
01 AIXISHNHBAEES 1,547,631 1,600,850 AB3,219
OEsExX IR2o 1,547,631
= 1,371,319
& 176,312
LB SS=AH2 WA 106,000 106,450 A450
307 QIZ2t01 A 106,000 106,450 2450
03 QIZIEHXHE2GHIE X 106,000 106,450 2450
oggdiel 22FH2 usiA 106,000
LT RR2AHXIR 97,057 97,057 0
= 86,000




SN &

X ZH -
o=

el Zoie! AHE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

< 11,067

308 AtXIEHMSOIE 97,057 97,057 0
= 86,000
= 11,057

01 AXEH B EES 97,057 97,057 0
Oggdie FLa4EX 97,057
= 86,000
= 11,057

NS a Ml X2dE 28 XA 558,000 548,000 10,000
= 279,000
< 279,000

308 AXIHMSOIA 568,000 548,000 10,000
= 279,000
& 279,000

183 S| 2SO ZB &HASAIE 558,000 548,000 10,000
OXNHedHXdE 28 X 558,000
= 279,000
= 279,000

ZOHOt JtE LFXA 4,763,380 4,164,823 598,557
= 3,334,366
s 1,429,014

307 elztol & 4,763,380 4,164,823 598,557
= 3,334,366
< 1,429,014

1 AMEISXAEEXS 4,763,380 4,164,823 598,557
OZO0fot 15 =X 4,763,380
= 3,334,366
= 1,429,014

LETHEAMHIA HIRH K& 5,876,516 5,762,996 113,520
= 5,207,040
= 669,476

308 XXM SOIA 5,876,516 5,762,996 113,520
= 5,207,040
== 669,476

01 XN BEES 5,876,516 5,762,99% 113,520
OgaMEMtIA HIeX X3 5,876,516
= 5,207,040
== 669,476

AL EXE HEH X 43,031 43,031 0
= 38,129
= 4,902

308 AFAIEHMSOIH 43,031 43,031 0
= 38,129




SN &
X XH -
[ I

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

< 4,902

01 HASHHBSEEXS 43,031 43,031 0
OcoEa2Xd B2 XIa 43,031
= 38,129
= 4,902

AI2EZOH QI QHOFAIFA ALY 1,069,579 1,118,000 A58,421
= 847,663
=S 211,916

307 glztol & 1,069,579 1,118,000 A58,421
= 847,663
< 211,916

1 AMEISXAIEEXS 1,059,579 1,118,000 A\58,421
O3ZE AZHOHIQHOAF THA 1,069,579
= 847,663
= 211,916

ZoHIdKelX& (SXLX2l) 3,867,305 3,549,000 318,305
= 2,974,850
= 892,455

308 XtXIEMSO0IE 3,867,305 3,549,000 318,305
= 2,974,850
s 892,455

01 HXEHH B E2ES 3,867,305 3,549,000 318,305
Ol =X LXtel X2 3,867,305
= 2,974,850
[ 892,455

ZoHQ! LB (ML) LXtel K& 9,676,321 9,379,500 296,821
= 7,443,323
= 2,232,998

308 AHXIHMSO0IA 9,676,321 9,379,500 296,821
= 7,443,323
S 2,232,998

01 AXNBEES 9,676,321 9,379,500 296,821
OF0pel LB (MLM) LXel XA 9,676,321
= 7,443,323
== 2,232,998

ZOHQ! LB (AIZMA) X2l K& 2,775,8% 2,617,500 168,356
= 2,135,274
= 640,582

308 AtXIEMSOIE 2,775,856 2,617,500 158,356
= 2,135,274
= 640,582

01 RSN B EES 2,775,856 2,617,500 158,356
OZOHQ! LBHH(AIREM) X2l X 2,775,856




SRR

M mojol =XSA
ol Zone!l XMEXd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

= 2,135,274
=S 640,582

LLHHHURLAZS A BXALY 640,476 630,500 9,976
= 492,674
< 147,802

308 AXIHSOIA 640,476 630,500 9,976
= 492,674
= 147,802

01 HAHHBSEXRS 640,476 630,500 9,976
OLLHMAILLESAF EXZALY 640,476
= 492,674
= 147,802

LI IIEEFAXA 168,571 188,571 0
= 111,000
== 47,571

307 el2to| & 158,571 188,571 0
= 111,000
= 47,571

11 AMEISXAIEEXS 158,571 188,571 0
Ooggde JIIEsAXE 188,571
= 111,000
= 47,571

354 HIEXZ 209,100 209,100 0
= 167,280
=S 41,820

307 elztol & 209,100 209,100 0
= 167,280
< 41,820

11 AMEISXAIEEXS 209,100 209,100 0
Oggdie ss=AX 209,100
= 167,280
= 41,820

LEHHL FLuSsKE 66,000 66,000 0
= 33,000
= 33,000

307 glztol & 66,000 66,000 0
= 33,000
s 33,000

11 AMEISXAIEEE 66,000 66,000 0
OgEdiel 700 FEus 24,000
= 12,000
[ 12,000
Ogolde)| LMl M2 o 24,000

<o)
|




SA EOjOI= XDt
M Fojol SXEX

el Joe Agid (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 12,000
=S 12,000
O8 ed W= 18,000
= 9,000
< 9,000
22T FHESAHHIA KA 13,703,114 12,453,786 1,249,328
= 12,142,000
= 1,561,114
308 XXM SOIE 13,703,114 12,453,786 1,249,328
= 12,142,000
= 1,561,114
01 XN B2 LS 13,703,114 12,453,786 1,249,328
Oggdiel =21asAblA N3 13,703,114
= 12,142,000
== 1,561,114
LEH Sh=E =SAHIA XA 3,374,429 3,191,600 182,829
= 2,990,000
= 384,429
308 XM SOIE 3,374,429 3,191,600 182,829
= 2,990,000
= 384,429
01 RSN B EES 3,374,429 3,191,600 182,829
Oggdie s ssAHHIA X2 3,374,429
= 2,990,000
=S 384,429
FUHESAHHIA 28 21" X2 238,000 235,200 2,800
= 119,000
S 119,000
308 AtAIEMSOIE 238,000 235,200 2,800
= 119,000
= 119,000
13 S [2SOHe & EAS A 238,000 235,200 2,800
O=2asMtlA 2Zed X3 238,000
= 119,000
= 119,000
LETHR FLHESAHEIA & FIHNE A 282,910 282,910 0
308 AXIMSOIA 282,910 282,910
01 XN BSELES 282,910 282,910
OE2dMe FHESAHIA & =OHKE 282,910
LEHM 2=s=3 A 635,656 635,656 0
= 424,135
= 211,521
307 21201 & 531,536 531,536 0




SRR

M mojol =XSA
Rl ZoHe! UHEAE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 372,075
=S 159,461
11 AMEISXAEEES 531,536 531,536 0
Oggdel 23S MY 2E(=3#012) 531,536
= 372,075
< 159,461
308 XM SOIE 104,120 104,120 0
= 52,060
= 52,060
13 S [2S0He & EAS A 104,120 104,120 0
Ol 2=sss AHg 2 XA (X%) 104,120
= 52,060
= 52,060
ZES LEZ SHESAHIA X 7,039,453 3,017,101 4,022,352
= 4,861,030
< 2,178,423
307 elzto| & 3,000,000 996,943 2,003,057
= 1,500,000
& 1,500,000
11 AMISXAIEEX 3,000,000 996,943 2,003,057
Oz|ST LEHMR 24A2t S MHE LH
g K& 3,000,000
= 1,500,000
= 1,500,000
308 XXM SOl 4,039,453 2,020,158 2,019,295
= 3,361,030
== 678,423
01 XN BSELES 3,927,453 1,954,158 1,973,295
OzES LETMA =223 HE LU
L= 1,497,639
= 1,152,030
= 345,609
Oz=5 eI =22s 08 Liid
INE=R (TSN 2,429,814
= 2,153,000
s 276,814
18 SIS0t EAS A 112,000 66,000 46,000
OzISE ¢ sess 2SN
S Al 112,000
= 56,000
= 56,000
S AlEd=S 63,639, 113 56,884,864 6,754,249
= 45,358,205
[ 365,532

_11_




A HOHRI= X
ma: mojol =X

o /|

2l HoHel AlM

=

02 0
-
Jon-qly
Off

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 17,925,376
ZOHIHFAIE 2(%) 60,400 11,000 49,400
201 fet=23y| 49,400 0 49,400
01 AtR2tc|HI 49,400 0 49,400
OolE M2IAME W= H AL =& 20,000
OZONASKIAIE (HOHAHFAIE) HIIALS 29,400
307 glztol & 11,000 11,000
11 AMEISXAEEES 11,000 11,000
OHOMHAHNFAIE QTN S wF 11,000
HOHAAFAIE 29 N (AZ, 29) 50,282,000 47,006,950 3,275,050
= 44,554,000
S 5,728,000
308 XM SOIE 50,282,000 47,006,950 3,275,050
= 44,554,000
= 5,728,000
01 AX N B EES 50,282,000 47,006,950 3,275,050
OZOMAANFAIE 2SR 50,282,000
= 44,554,000
= 5,728,000
ZOHRIHFAIE 2 K& (A=, &) 131,177 128,754 2,423
= 116,233
[ 14,944
308 AXIHS0IA 131,177 128,754 2,423
2 116,233
S 14,944
01 X SHHBAEXS 131,177 128,754 2,423
OFOAANFAIE &bl 0lE8E KT 131,177
= 116,233
= 14,944
ZOHAIHFAIE 2 X3 (EH) 761,736 357,024 404,712
= 95,833
== 665,903
307 elzto| & 761,736 367,024 404,712
= 95,833
< 665,903
05 212+ =S 761,736 357,024 404,712
Olloi&oKel & 248 XA 761,736
= 95,833
= 665,903
ZOHIHFAIE JISEZ(ZHIXR) 620,920 1,196,437 A575,517
= 350,964
=S 269,956




2A:

3 Z*OHO._I SN
s ZO0He AlEES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
403 X SHHMSAH=01H 620,920 1,196,437 A575,517
= 350,964
== 269,956
01 A= 2L 620,920 1,196,437 A575,517
OZOHANFAIL JISs22(ZHIXR) 620,920
= 360,964
& 269,956
ZOHRIAFAIE S XI&E 1,279,768 922,710 357,058
308 AXIHMSO0IA 1,279,768 922,710 357,058
01 AXEN B2 LS 1,279,768 922,710 357,058
OSZZY 25Xt ==X 176,112
OTOHLUHFAIE SAK 2AHl 2EZ(H
F22Y) 708,65
OFOLIHF=AIE 2 K& (0He!) 395,000
ZOHRIAFAIE ZSIIEED| dE X 10,272 20,544 10,272
= 7,704
= 2,568
308 AHXIHMSO0IA 10,272 20,544 10,272
= 7,704
S 2,568
01 XN B2 LS 10,272 20,544 A10,272
O ANFAIE SI1FE)| elg X& 10,272
= 7,704
== 2,568
gojel=sxa 249 6,229,031 3,605,321 2,623,710
307 gl2to| & 4,904,211 3,495,321 1,408,890
05 212+ =S 4,779,361 3,413,177 1,366, 184
OLEHMI=X2 =24 4,406,000
OZHA=X2t S2IXZAH X 136,532
OBFWEA K& 54,100
OLHXIE=A X 43,250
OHfeIsXI2t SSA XIE 139,479
1 AMISXAEEX 124,850 82,144 42,706
Osgaat s|y=e & 94,850
OssdeEnsa XA 30,000
308 XXM SOIA 260,000 260,000
01 XN B2 LS 260,000 260,000
OAlZZI=X2 JIs 243 Al K& 200,000
OAIZHOISXI2t 23t R (0FA) 40,000
OAZ I =X HOFIAIH& ALY X2
Otat) 20,000
401 Al HIZL 201 678,480 678,480
01 Al&H| 674,880 674,880

_13_
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2A:
PSR
ool

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORI AL SAK HRME(Z) 51,840
OZOHI TR AIE BSAHA HUZAHI(Z) 29,400
OZONIAIE SAXE HRME (= 179,670
OZOAUAIE SAAF FHSAHI(ZE) 89,040
308 XtXIEMSO0IE 1,241,384 1,190,799 50,585
01 AXENBEES 1,241,384 1,190,799 50,585
OZ NI AL BAK MLRIME (AlIZ) 92,676
OZOHRIAIE BAXF HLMH(AIZ) 690,320
OZOLUAIE SAL ZHSAHI(AIZ) 458,388
ZOHQ! EAlE JIgk O 30,000 30,000
308 AXIHMSO0IA 30,000 30,000
01 AXEH B EES 30,000 30,000
OEAIE Ze 233 XA 30,000
ZOHQ XAt HEXIR AEALS 586,628 491,400 95,228
= 365,532
== 231,09
307 elztol & 365,532 0 365,532
= 177,766
< 177,766
1 AMISXAEEXS 365,532 0 365,532
OFOHQ! XA KHEXIZE A (2 366,532
[ 177,766
= 177,766
308 XXM SOIA 231,096 491,400 A260,304
= 177,766
=S 53,330
01 XN B2 LS 231,096 491,400 A260,304
OOl XIFAR KHE X3 AlE A 231,096
= 177,766
< 53,330
ZOHRIHFAIE I IS 22 (XHA) 20,400 20,400
403 AXIEHMSA=Z01d 20,400 20,400
01 AXISHA=2 22X 20,400 20,400
OFMUIIESHE JISET Al 12,000
OFMAUNFAIL D22 (L) 8,400
ZOHRIAFAIE 10T AIEE SEAME 29 6,037 0 6,037
= 5,349
== 688
308 AXIHSOIA 6,037 0 6,037
= 5,349
= 688
01 HAHHBSEEXS 6,037 0 6,037




2A:

ZoHeI= X

=

M Zoje SXNSH
s ZO0He AlEES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHOHIHFAIL 10T, AIZE SSAEE2E 6,037
= 5,349
== 688
Ol HEXZ 27,586,190 17,948,990 9,637,200
= 6,881,688
= 18,351,381
= 2,353,121
ZOHRUHE AL T 272,000 267,297 4,703
307 el2to| & 272,000 267,297 4,703
10 Al SXAAEEHE 22X 210,000 205,426 4,574
OSEHUABEASII =X AHEH 23 210,000
1 AMISXAIEEXS 62,000 61,871 129
OBJAIE 4X TN X3 62,000
ZOoHeIDtE S HE 4,681,000 0 4,681,000
= 4,681,000
401 AIZHIX R0 4,681,000 0 4,681,000
= 4,681,000
01 Al&H| 4,321,000 0 4,321,000
S Z0HeItE S ME A (ALH]) 4,321,000
= 4,321,000
02 Zeltl 350,000 0 350,000
OF< Zojeots £addy g (=Zeltl) 350,000
= 350,000
03 Al 20HHI 10,000 0 10,000
OSg ZHItE 2EdE A (ML
BlI) 10,000
= 10,000
ZoHelel =4l 1,879,863 1,424,615 455,248
= 1,599,883
= 279,980
308 XtXIEMSO0IE 1,879,863 1,424,615 455,248
= 1,599,883
s 279,980
01 HXHH B E2ES 1,879,863 1,424,615 455,248
OZoferel =4l 1,879,863
= 1,599,883
[ 279,980
MNASEOHR! MEHl & ZAH X 22,932 25,297 A2,365
= 22,932
308 AXIHSOIA 22,932 25,297 A2,365
= 22,932
01 RSN B EES 22,932 25,297 A2,365
OMASEOHQ JEHl 3 S AtH| 22,932




SA EOjOI= XDt
HH: Fojol SXEX

cHels ZO0He! HEXIH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| 2 22,932
ZOHQ! MEOHY KR (AZTHE) 70,000 116,629 A\46,629
308 AHAIEHMSOIH 70,000 116,629 A\46,629
01 RSN EES 70,000 116,629 N46,629
OFOHQ! HEAFAMS(AZTHEXIR) 70,000
ST HEHA AHE 19,382,197 15,000,000 4,382,197
= 17,029,076
= 2,353,121
402 QI2F X201 & 19,382,197 15,000,000 4,382,197
= 17,029,076
= 2,353,121
02 QI X2 AL E R (01X THE) 19,382,197 15,000,000 4,382,197
Osgds Hega HE 19,382,197
=S 17,029,076
= 2,353,121
IR0 XA 70,368 79,124 AB,75%6
= 65,458
= 4,910
308 XXM SOIA 70,368 79,124 A8,75%6
= 65,458
== 4,910
01 XN BSELES 70,368 79,124 N\8,756
OZMAEEIID XA 70,368
= 65,458
< 4,910
ZOHIE T K2 AL 50,000 55,845 N5,845
308 AFAIEHMSOIE 50,000 55,845 N5,845
01 AXEH B EES 50,000 55,845 N\5,845
O 2E7 =cIXIH 50,000
SEEE EX0DIHE Arellztel 267,000 231,520 35,480
= 133,500
== 133,500
307 elzto| & 267,000 231,520 35,480
= 133,500
< 133,500
1 AMEISXAIEEXS 267,000 231,520 35,480
OSEET EJDIHE Atgizel X 267,000
= 133,500
= 133,500
SEEL BR0PDIME A2l (X=2) 50,430 36,000 14,430
= 25,215
=S 25,215




SRR

. Zoje SXNSd
Sl HOHe! HEAH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
402 QI2F X201 & 50,430 36,000 14,430
= 25,215
== 25,215
02 QI X2 AL E R (0IHTHR) 50,430 36,000 14,430
OSEEE EXRIDIME Atellztel X (X
2) 50,430
= 25,215
= 25,215
NS EfeI2He B MY 2 539,900 540,076 A176
= 269,950
S 269,950
308 XXM SOIA 539,900 540,076 A176
= 269,950
== 269,950
18 SIS0t oA AS A 539,900 540,076 A176
OXZEe A2 dEH 29 539,900
= 269,950
< 269,950
HdSE2EEF 018 02 282 X2 58,000 97,587 A\39,587
308 XM SOIE 58,000 97,587 A\39,587
01 XN EES 58,000 97,587 A39,587
OXSEEF 0|880e 28z X2 58,000
el 2SMHE & S=H= N2 75,000 75,000 0
308 XXM SOIA 75,000 75,000
01 XN B2 LS 75,000 75,000
Ol 23HE &« S=H= N 75,000
ZoHxlet AZA&I|2 X2 167,500 0 167,500
= 83,750
== 83,750
403 AXIEMSA=201E 167,500 0 167,500
= 83,750
= 83,750
02 S 2SOt et = & 2 E AL H] 167,500 0 167,500
Ozt A2B &2 X 167,500
= 83,750
= 83,750
Wees(ZHASR) 50,000 0 50,000
SEXE(Z0HA=XI) 50,000 0 50,000
=N =NEXs gEs 50,000 0 50,000
802 gret=JIE 50,000 0 50,000
01 =mNExSEEs 50,000 0 50,000
OF=XE0F mN2 xS et 50,000
AY2SZHI(HO0 =R 1t) 57,320 58,040 AT20
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58,040
58,040
25,600
25,600
25,600
25,600

6,840

3,600

3,240

Ofl &F2H

57,320
57,320
25,600
25,600
25,600
25,600
25,600
25,600

6,120
2,880
2,880
3,240
3,240
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